Threshold [dB]

ICl =6 ms 0 ICI=12ms 0 ICI=24 ms 0 ICl =48 ms 0 ICl =200 ms
-10 -10 -10 -10
-20 -20 1 -20 -20
-30 -30 -30 -30
b
-40 -40 -40 -40
b

-50 ot i -50 F é -50

b

ID3 -60 -60 -60 ~60 | s syt
0 0 0 0
% -10 -10 -10 -10
-20 -20 % -20 -20
-30 % -30
% -40 -40

-50 -50 -50 -50

D9 -60 -60 -60 -60

0 0 0 0

-10 -10 -10 -10

% -20 -20 -20 -20

b -30 -30 -30 -30
4 d

-40 b -40 % -40 -40

-50 -50 50 -50 PRt b
ID 11 -60 -60 -60 -60
0 0 0 TEERE:
27 388
-10 -10 -10 -10/18 & ¥ % ®
oo 88848
-20 -20 -20 -20
4 % 4
F -30 -30 -30 -30 (3 B
\i ]
} @ 2
5 ]
-40 S -40 -40 } -40 {~ 3
: N &
-50 -50 -50 -50 p%g
ID 12 -60 -60 -60 -60 | o Lateralization

o Detection

Days of training (days 1-3, 24, ..., 28-30)




